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A customer needs a Synergy solution configuration with 40Gb uplinks that will connect to network equipment in a

different rack.

Click and drag the cable type on the left to the corresponding distance between the frame and the network equipment

on the right to meet the customer\\'s needs.

Select and Place:

Transceiver/Cable Type

Distance Covered

QSF?+ MPO SR4 Transceiver

QSFP+ LC LR4 Transceiver

QSF2+ DAC Cable

Between 5 and 15 meters

5 meters or less

Between 300 meters and 10 km

300 meters or less

QSFP+ Active Optical Cable

Correct Answer:

Transceiver/Cable Type Distance Covered

QSFP+ Active Optical Cable | Between 5 and 15 meters

QSFP-+ DAC Cable 5 meters or less

QSFP+ LC LR4 Transceiver Between 300 meters and 10 km

QSFP+ MPO SR4 Transceiver | 300 meters or less

QUESTION 2

A customer is unable to boot to a 3.5TB volume created and presented to a compute node.
What is likely preventing the boot?

A. Boot volumes larger than 3TB are not supported on HPE Synergy.

B. The system is set to Legacy BIOS mode instead of UEFI.

C. The system is set to UEFI instead of Legacy BIOS mode.
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D. Boot volumes larger than 2.2TB are not supported on Synergy.

Correct Answer: D

QUESTION 3

A customer has moved a USB bootable drive to another compute module but the compute module fails to boot from the
USB device.

What should the Synergy integrator do to resolve this issue?

A. In the server Profile, make sure OS Deployment is set to Deployment Plan.
B. Use UEFI System Utilities to disable the B140i RAID controller.

C. Verify that the USB drive key is enabled in UEFI System Utilities.

D. Make sure PXE boot is disabled.

Correct Answer: B

QUESTION 4

A customer needs a consolidated infrastructure view for HPE Synergy and HPE BladeSystem c7000 enclosures. Which
approach should the Synergy integrator take to meet the customer\\'s needs?

A. Enable federation in the HPE OneView appliance and add remote HPE OneView instances.
B. Add remote enclosures to monitor the BladeSystem c7000 enclosures.

C. Deploy HPE OneView Global Dashboard.

D. Extend the Synergy out-of-band management ring to the c7000 Onboard Administrator ports.

Correct Answer: C

QUESTION 5

A customer has purchased 15 Synergy Frames with the following components:
150 HPE SY 480 compute modules

15 HPE Synergy D3940 storage modules with 40 disks each

6 Image Streamers

6 Virtual Connect SE 40Gb F8 modules

24 10GDb Interconnect Link Modules

How many frames can the configuration have for the Logical Enclosure?
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A. 3 frames
B. 4 frames
C. 5 frames
D. 6 frames

Correct Answer: A
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